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MATHS

BOOKS - SELINA MATHS (ENGLISH)

CYLINDER, CONE AND SPHERE

1. The area of the curved surface of a cylinder
is 4, 400cm? and the circumference of its base

is 110 cm. Find :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IanYYifM2Lfr

(1) the height of the cylinder,

(i) the volume of the cylinder.

° Watch Video Solution

2. 50 identical circular plates are placed one
above the other to form a solid cylinder. For
each plate, diameter = 21 cm and thickness = 15
cm. Find :

(1) curved surface area of the cylinder formed.

(i) volume of the cylinder fomred.

° Watch Video Solution



https://dl.doubtnut.com/l/_IanYYifM2Lfr
https://dl.doubtnut.com/l/_bOUJEHIftYJ7

3. The volume of a solid cylinder is 96228cm*
and the ratio of its radius to its height is 9:14.

Find the total surface area of the cylinder.

o Watch Video Solution

4. A cylindrical tube, open at both ends, is
made of metal. The internal diameter of the
tube is 112 cm and its length is 21 cm. The

metal everywhere is 04 cm in thickness.


https://dl.doubtnut.com/l/_bOUJEHIftYJ7
https://dl.doubtnut.com/l/_I2VSEu1igv2d
https://dl.doubtnut.com/l/_YvtwKui4Vse7

Calculate the volume of the metal correct to

one place of decimal.

° Watch Video Solution

5. Find the volume of the largest cylinder
formed when a rectangular piece of paper 22

cm by 15 cm is rolled along its longer side.

° Watch Video Solution



https://dl.doubtnut.com/l/_YvtwKui4Vse7
https://dl.doubtnut.com/l/_s5LoZmXcdKbm

6. When a metal cube is completely
submerged in water contained in a cylindrical
vessel with diameter 30 cm, the level of water
41
rises by 1—cm. Find:
Y 99

(i) the length of edge of the cube.

(ii) the total surface area of the cube.

o Watch Video Solution

7. The radius of the base and the height of a

right circular cone are 7 cm and 24 cm


https://dl.doubtnut.com/l/_zlOczIMyKGQe
https://dl.doubtnut.com/l/_uNE3gGCIXm6z

respectively. Find the volume and the total

surface area of the cone.

° Watch Video Solution

8. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution



https://dl.doubtnut.com/l/_uNE3gGCIXm6z
https://dl.doubtnut.com/l/_FofG5htoOIP4

9. The ratio of the base area and the curved
surface area of a conical tent is 40:41. If its
height is 18 m, find the air capacity of the tent

in terms of .

o Watch Video Solution

10. Find what length of canvas, 2 m in width, is
required to make a conical tent 12 m in

diameter and 63 m in slant height?


https://dl.doubtnut.com/l/_UU1ZSw6gPnxg
https://dl.doubtnut.com/l/_RSPlvdFx2igu

Also, find the cost of the canvas at the rate of

Rs. 150 per metre.

o Watch Video Solution

11. A vessel, in the form of an inverted cone, is
filled with water to the brim. Its height is 20
cm and diameter is 16.8 cm. Two equal solid
cones are dropped in it so that they are fully
submerged. As a result, one-third of the water

in the original cone overflows. What is the


https://dl.doubtnut.com/l/_RSPlvdFx2igu
https://dl.doubtnut.com/l/_wSb4ZI7v58Yj

volume of each of the solid cones submerged

?

° Watch Video Solution

12. Find the area of the canvas required to
make a conical tent 14 m high and 96 m in
diameter. Given that:

(i) 20% of the canvas is used in folds and
stitchings.

(il) canvas used in folds and stitchings is 20%

of the curved surface area of the tent.

| e |


https://dl.doubtnut.com/l/_wSb4ZI7v58Yj
https://dl.doubtnut.com/l/_RRC7g4x234rf

& Wwatch Video Solution I

13. The capacity and the base area of a right
circular conical vessel are 9856 ¢m?® and 616
2

cm” respectively. Find the curved surface area

of the vessel.

o Watch Video Solution

14. If the surface area of a sphere is 616 cm?,

find its volume.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_RRC7g4x234rf
https://dl.doubtnut.com/l/_eeRtwVr9y5X9
https://dl.doubtnut.com/l/_9rjI6LN6h8oz

15. The internal and external diameters of a
hollow hemispherical vessel are 42 cm and 45
cm respectively. Find its capacity and also its

outer curved surface area.

° Watch Video Solution

16. A solid spherical ball of iron with radius 6
cm is melted and recast into three solid

spherical balls. The radii of the two balls are 3


https://dl.doubtnut.com/l/_9rjI6LN6h8oz
https://dl.doubtnut.com/l/_Xc2etIIKakd3
https://dl.doubtnut.com/l/_ZGTRQ0Fl5YO6

cm and 4 cm respectively, determine the

diameter of the third ball.

° Watch Video Solution

17. The internal and external diameters of a
hollow hemispherical vessel are 21 cm and 25.2
cm respectively. Find the cost of painting it, all

over, at the rate of 1.50 per em?.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZGTRQ0Fl5YO6
https://dl.doubtnut.com/l/_HyZpkkMqxJh8

18. The radius of the base of a cone and the
radius of a sphere are the same, each being 8
cm. Given that the volumes of these two solids
are also the same, calculate the slant height of

the cone.

o Watch Video Solution

19. A metallic sphere of radius 10.5 cm is

melted and then recast into small cones each


https://dl.doubtnut.com/l/_a10vggjN8tsr
https://dl.doubtnut.com/l/_xRwcaFTuqsTg

of radius 3.5 cm and height 3 cm. Find the

number of cones thus formed.

° Watch Video Solution

20. A hollow metal sphere of internal and
external radii 2 cm and 4 cm respectively is
melted into a solid cone of base radius 4 cm.

Find the height and slant height of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_xRwcaFTuqsTg
https://dl.doubtnut.com/l/_5k0uXi0JrdMn

21. A vessel is in the form of an inverted cone.
Its height is 11 cm and the radius of its top,
which is open, is 2.5 cm. It is filled with water
up to the rim. When lead shots, each of which
is a sphere of radius 0.25 cm, are dropped into
the vessel 5 of the water flows out. Find the

number of lead shots dropped into the vessel.

o Watch Video Solution



https://dl.doubtnut.com/l/_v2BeMsnokZ3a

22.Atoy is in the form of a cone mounted on a
hemisphere with the same radius. The
diameter of the base of the conical portion is
12 cm and its height is 8 cm. Determine the

surface area and the volume of the toy

(m = 3.14).

o Watch Video Solution

23. The given block is made of two solids : a

cone and a hemisphere. If the height and the


https://dl.doubtnut.com/l/_Tyul9yTJ8ZQT
https://dl.doubtnut.com/l/_UMuJuQQQYhpY

base-radius of the cone are 24 cm and 10 cm
respectively and the diameter of the
hemisphere is 10 cm, find the total surface

area of the block. (Take # = 3.14)

L.

o Watch Video Solution

24. The height of a solid cone is 30 cm. A small
cone is cut off from the top of it such that the
base of the cone cut off and the base of the

given cone are parallel to each other. If the


https://dl.doubtnut.com/l/_UMuJuQQQYhpY
https://dl.doubtnut.com/l/_h43OmGhkIAPY

volume of the cone cut and the volume of the
original cone are in the ratio 1:27, find the
height of the the remaining part of the given

cone.

o Watch Video Solution

25.The given figure shows the cross-section of
an ice cream cone consisting of a cone
surmounted by a hemisphere. The radius of
the hemisphere is 3.5 cm and the height of the

cone is 10-5 cm. The outer shell ABCDEF is


https://dl.doubtnut.com/l/_h43OmGhkIAPY
https://dl.doubtnut.com/l/_9sP49C3zbrkI

shaded and is not filled with ice-cream. AF = DC

= 0.5 cm, AB // FE and BC // ED. Calculate :

(i) the volume of the ice-cream in the cone (the

internal volume of the cone including the

hemisphere) in em?,

(ii) the volume of the outer shell (the shaded
3

portion) in cm”.

In each case, give your answer correct to the


https://dl.doubtnut.com/l/_9sP49C3zbrkI
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o Watch Video Solution



https://dl.doubtnut.com/l/_9sP49C3zbrkI

26. From a solid cylinder of height 36 cm and
radius 14 c¢cm, a conical cavity of radius 7 cm
and height 24 cm is drilled out. Find the
volume and the total surface area of the

remaining solid.

o Watch Video Solution

27. A girl fills a cylindrical bucket 32 cm in
height and 18 cm in radius with sand. She

empties the bucket on the ground and makes


https://dl.doubtnut.com/l/_YbIdUMVujhrU
https://dl.doubtnut.com/l/_MySJD5Bhrps6

a conical heap of the sand. If the height of the
conical heap is 24 cm, find :

(i) the radius and

(i) the slant height of the heap. Give your

answer correct to one place of decimal.

o Watch Video Solution

28. From a solid cylinder, whose height is 8 cm
and radius is 6 cm, a conical cavity of height 8
cm and of base radius 6 cm is hollowed out.

Find the volume of the remaining solid.

| e |


https://dl.doubtnut.com/l/_MySJD5Bhrps6
https://dl.doubtnut.com/l/_xcRefxsHY9lz

& Wwatch Video Solution I

29. A cylindrical beaker, whose base has a
radius of 15 cm, is filled with water up to a
height of 20 cm. A heavy iron spherical ball of
radius 10 cm is dropped to submerge
completely in water in the beaker. Find the

increase in the level of water.

° Watch Video Solution



https://dl.doubtnut.com/l/_xcRefxsHY9lz
https://dl.doubtnut.com/l/_fFqV4W5mM3X6

30. The cross-section of a railway tunnel is a
square surmounted by a semi-circle as shown

in the figure.

The tunnel is 50 m long. Find the cost of
plastering the internal surface of the tunnel
(excluding the floor) at the rate of Rs 10 per

m?.

o Watch Video Solution



https://dl.doubtnut.com/l/_ES8bB2JdriIM

31. Water flows through a cylindrical pipe of
internal diameter 7 cm at 5 metre per second.
Calculate :

(i) the volume, in litres, of water discharged by
the pipe in one minute,

(i) the time, in minutes, the pipe would take to
fill an empty rectangular tank

dm X 3m X 2.31m.

o Watch Video Solution



https://dl.doubtnut.com/l/_ES8bB2JdriIM
https://dl.doubtnut.com/l/_wVUAKlXaI7uM

Exercise 20 A

1. The height of a circular cylinder is 20 cm and
the radius of its base is 7 cm. Find :

the volume

° Watch Video Solution

2. The height of a circular cylinder is 20 cm and
the radius of its base is 7 cm. Find :

the total surface area.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_XpidI4PKProu
https://dl.doubtnut.com/l/_4W8fTZOzGB8E

3. The inner radius of a pipe is 2.1 cm. How

much water can 12 m of this pipe hold ?

o Watch Video Solution

4. A cylinder of circumference 8 cm and length

21 cm rolls without sliding for 45 seconds at

the rate of 9 complete rounds per second.

Find :


https://dl.doubtnut.com/l/_4W8fTZOzGB8E
https://dl.doubtnut.com/l/_iqziSCmXtc6x
https://dl.doubtnut.com/l/_L49NB6hhxy4M

1
the distance travelled by the cylinder in 45

seconds ?

° Watch Video Solution

5. A cylinder of circumference 8 cm and length
21 cm rolls without sliding for 45 seconds at
the rate of 9 complete rounds per second.

Find :

1

the area covered by the cylinder in 45

seconds.

o Watch Video Solution



https://dl.doubtnut.com/l/_L49NB6hhxy4M
https://dl.doubtnut.com/l/_WwUI9xVYAclL

6. How many cubic metres of earth must be
dug out to make a well 28 m deep and 2.8 m in
diameter ? Also, find the cost of plastering its

inner surface at Rs 4.50 per sq. metre.

o Watch Video Solution

7. What length of solid cylinder 2 cm in
diameter must be taken to recast into a
hollow cylinder of external diameter 20 cm, O-

25 cm thick and 15 cm long?


https://dl.doubtnut.com/l/_WwUI9xVYAclL
https://dl.doubtnut.com/l/_obn6UIpQVX7W
https://dl.doubtnut.com/l/_y0ao38RVQvxN

° Watch Video Solution

8. A cylinder has a diameter of 20 cm. The area
of the curved surface is 100 sq cm. Find the
height of the cylinder correct to one decimal

place.

o Watch Video Solution

9. A cylinder has a diameter of 20 cm. The area

of the curved surface is 100 e¢m?. Find the


https://dl.doubtnut.com/l/_y0ao38RVQvxN
https://dl.doubtnut.com/l/_pAER3XNB2H68
https://dl.doubtnut.com/l/_JOc0K1eJoEwN

volume of the cylinder (in. emd).

o Watch Video Solution

10. A metal pipe has a bore (inner diameter) of
5 cm. The pipe is 5 mm thick all round. Find the
weight, in kilogram, of 2 metres of the pipe if

lem?® of the metal weighs 7.7 g.

° Watch Video Solution



https://dl.doubtnut.com/l/_JOc0K1eJoEwN
https://dl.doubtnut.com/l/_x09SnkOZdl23

1. A cylindrical container with diameter of
base 42 c<m contains sufficient water to
submerge a rectangular solid of iron with
dimensions 22cm X 14em x 10.5em.  Find
the rise in level of the water when the solid is

submerged.

o Watch Video Solution

12. A cylindrical container with internal radius

of its base 10 cm, contains water up to a


https://dl.doubtnut.com/l/_7FD6LZnc60TQ
https://dl.doubtnut.com/l/_f16yw2c4Pu2m

height of 7 cm. Find the area of the wet

surface of the cylinder.

° Watch Video Solution

13. Find the total surface area of an open pipe
of length 50 cm, external diameter 20 cm and

internal diameter 6 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_f16yw2c4Pu2m
https://dl.doubtnut.com/l/_VFRvDNRh67zR

14. The height and the radius of the base of a
cylinder are in the ratio 3: 1. If its volume is

1029 wem?®, find its total surface area.

o Watch Video Solution

15. The radius of a solid right circular cylinder
increases by 20% and its height decreases by
20%. Find the percentage change in its

volume.

° Watch Video Solution



https://dl.doubtnut.com/l/_NLIgfcisN3NP
https://dl.doubtnut.com/l/_lkFzgUSSMlmc

16. The radius of a solid right circular cylinder
decreases by 20% and its height increases by
10%. Find the percentage change in its :

volume

o Watch Video Solution

17. The radius of a solid right circular cylinder
decreases by 20% and its height increases by
10%. Find the percentage change in its :

curved surface area


https://dl.doubtnut.com/l/_lkFzgUSSMlmc
https://dl.doubtnut.com/l/_j3RjWDinObuK
https://dl.doubtnut.com/l/_vvE7NU77lFLr

° Watch Video Solution

18. Find the minimum length in cm and correct
to nearest whole number of the thin metal
sheet required to make a hollow and closed
cylindrical box of diameter 20 cm and height
35 cm. Given that the width of the metal sheet
is T m. Also, find the cost of the sheet at the
rate of Rs 56 per sq m.

Find the area of metal sheet required, if 10%

of it is wasted in cutting, overlapping, etc.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_vvE7NU77lFLr
https://dl.doubtnut.com/l/_xvoQJQqMhhZo

19. 3080 ¢m® of water is required to fill a
cylindrical vessel completely and 2310 em® of
water is required to fill it upto 5 cm below the
top. Find :

radius of the vessel.

° Watch Video Solution

20. 3080 cm? of water is required to fill a

cylindrical vessel completely and 2310 em® of


https://dl.doubtnut.com/l/_xvoQJQqMhhZo
https://dl.doubtnut.com/l/_mZJ6rhg8AP75
https://dl.doubtnut.com/l/_nAWJ355F3Z8R

water is required to fill it upto 5 cm below the
top. Find :

height of the vessel.

° Watch Video Solution

21. 3080 cm® of water is required to fill a
cylindrical vessel completely and 2310 cm® of
water is required to fill it upto 5 cm below the
top. Find :

wetted surface area of the vessel when it is

half-filled with water.

| e |


https://dl.doubtnut.com/l/_nAWJ355F3Z8R
https://dl.doubtnut.com/l/_PYQOLZizCEUg

& Wwatch Video Solution I

22. Find the volume of the largest cylinder
formed when a rectangular piece of paper 44

cm by 33 cm is rolled along its shorter side.

° Watch Video Solution

23. Find the volume of the largest cylinder
formed when a rectangular piece of paper 44

cm by 33 cm is rolled along its longer side.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_PYQOLZizCEUg
https://dl.doubtnut.com/l/_ed104ktszdXg
https://dl.doubtnut.com/l/_Sy71dDfY879a

24. A metal cube of side 11 cm is completely
submerged in water contained in a cylindrical
vessel with diameter 28 cm. Find the rise in the

level of water.

° Watch Video Solution

25. A circular tank of diameter 2 m is dug and
the earth removed is spread uniformly all

around the tank to form an embankment 2 m


https://dl.doubtnut.com/l/_Sy71dDfY879a
https://dl.doubtnut.com/l/_ro0lyKc5p3uz
https://dl.doubtnut.com/l/_OkEarZSTfMcG

in width and 1.6 m in height. Find the depth of

the circular tank.

° Watch Video Solution

26. The sum of the inner and the outer curved
surfaces of a hollow metallic cylinder is
1056cm? and the volume of material in it is
1056¢cm?>. Find its internal and external radii.

Given that the height of the cylinder is 21 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_OkEarZSTfMcG
https://dl.doubtnut.com/l/_XzNKl45Fx0D2
https://dl.doubtnut.com/l/_BlsJISSSy22B

27. The difference between the outer curved
surface area and the inner curved surface area
of a hollow cylinder is 352cm?. If its height is
28 cm and the volume of material in it is

704em?, find its external curved surface area.

o Watch Video Solution

28. The sum of the height and the radius of a
solid cylinder is 35 cm and its total surface
area is 3080cm?, find the volume of the

cylinder.


https://dl.doubtnut.com/l/_BlsJISSSy22B
https://dl.doubtnut.com/l/_7LFCKgFqxfH0

° Watch Video Solution

29. The total surface area of a solid cylinder is
616cm?. If the ratio between its curved
surface area and total surface area is 1: 2, find

the volume of the cylinder.

o Watch Video Solution

30. A cylindrical vessel of height 24 cm and

diamater 40 cm is full of water. Find the exact


https://dl.doubtnut.com/l/_7LFCKgFqxfH0
https://dl.doubtnut.com/l/_7fcPOWqQP8Rt
https://dl.doubtnut.com/l/_ldfTE8o3OQL4

number of small cylindrical bottles, each of
height 10 cm and diameter 8 cm, which can be

filled with this water.

o Watch Video Solution

31. Two solid cylinders, one with diameter 60
cm and height 30 cm and the other with
radius 30 cm and height 60 cm, are melted
and recasted into a third solid cylinder of
height 10 cm. Find the diameter of the cylinder

formed.

| e |


https://dl.doubtnut.com/l/_ldfTE8o3OQL4
https://dl.doubtnut.com/l/_99XsEUGM7HPO

& Watch Video Solution I

32. The total surface area of a hollow cylinder,
which is open from both the sides, is 3575 cm",
area of its base ring is 357.5¢m? and its height

is 14 cm. Find the thickness of the cylinder.

° Watch Video Solution

33. The given figure shows a solid formed of a
solid cube of side 40 cm and a solid cylinder of

radius 20 cm and height 50 cm attached to


https://dl.doubtnut.com/l/_99XsEUGM7HPO
https://dl.doubtnut.com/l/_7wJ1WICi1knw
https://dl.doubtnut.com/l/_K2omso3Jcin9

the cube as shown. Find the volume and the

total surface area of the whole solid [Take

m = 3.14]



https://dl.doubtnut.com/l/_K2omso3Jcin9

\ o Watch Video Solution

34.Two right circular solid cylinders have radii
in the ratio 3 : 5 and heights in the ratio 2:3.
Find the ratio between their curved surface

areas.

o Watch Video Solution

35. Two right circular solid cylinders have radii

in the ratio 3 : 5 and heights in the ratio 2:3.


https://dl.doubtnut.com/l/_K2omso3Jcin9
https://dl.doubtnut.com/l/_U8bBrp8Pn40e
https://dl.doubtnut.com/l/_ubEkKQLONMWN

Find the ratio between their volumes.

° Watch Video Solution

36. A closed cylindrical tank, made of thin iron

sheet, has diameter = 84 m and height 54 m.

2

How much metal sheet, to the nearest m~*, is

used in making this tank, if IR of the sheet

actually used was wasted in making the tank ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ubEkKQLONMWN
https://dl.doubtnut.com/l/_kcireJN5CUYk

Exercise 20 B

1. Find the volume of a cone whose slant

height is 17 cm and radius of base is 8 cm.

o Watch Video Solution

2. The curved surface area of a cone is
12320cm?. If the radius of its base is 56 cm,

find its height.

o Watch Video Solution



https://dl.doubtnut.com/l/_ILwqRdrhgXz1
https://dl.doubtnut.com/l/_mTIdIoudwMlW

3. The circumference of the base of a 12 m high
conical tent is 66 m. Find the volume of the air

contained in it.

o Watch Video Solution

4.The radius and the height of a right circular
cone are in the ratio 5 : 12 and its volume is
2512 cubic cm. Find the radius and slant height

of the cone. (Take m = 3.14)

° Watch Video Solution



https://dl.doubtnut.com/l/_Xk2L2EIVtw0A
https://dl.doubtnut.com/l/_pYyj1bETCDF9

5. Two right circular cones x and y are made. x
having three times the radius of y and y
having half the volume of x. Calculate the ratio

between the heights of x and y.

o Watch Video Solution

6. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of their curved surface areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_pYyj1bETCDF9
https://dl.doubtnut.com/l/_E9s3VbVY2Rkd
https://dl.doubtnut.com/l/_7lyplIhmNcas

7. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the latter is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution

8. A heap of wheat is in the form of a cone of

diameter 16.8 m and height 3.5 m. Find its


https://dl.doubtnut.com/l/_7lyplIhmNcas
https://dl.doubtnut.com/l/_AWhmXpWCqLfK
https://dl.doubtnut.com/l/_EGdZSKj7a4hM

volume. How much cloth is required to just

cover the heap ?

° Watch Video Solution

9. Find what length of canvas, 1.5 m in width, is
required to make a conical tent 48 m diameter
and 7 m in height ? Given that 10% of the
canvas is used in folds and stitchings. Also,
find the cost of the canvas at the rate of Rs.24

per metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_EGdZSKj7a4hM
https://dl.doubtnut.com/l/_5ZgeQJOtLYs4

10. A solid cone of height 8 cm and base radius
6 cm is melted and recast into identical cones,
each of height 2 cm and diameter 1 cm. Find

the number of cones formed.

° Watch Video Solution

11. The total surface area of a right circular

cone of slant height 13 cm is 90mem?.

Calculate its radius in cm.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_5ZgeQJOtLYs4
https://dl.doubtnut.com/l/_EyYAhjTEVgHd
https://dl.doubtnut.com/l/_YXATtYN5PF9k

12. The total surface area of a right circular

cone of slant height 13 cm is 90mem?.

Calculate its volume in em?®. (Take w = 3.14).

° Watch Video Solution

13. The area of the base of a conical solid is
38.5cm? and its volume is 154em?®. Find the

curved surface area of the solid.

° Watch Video Solution



https://dl.doubtnut.com/l/_YXATtYN5PF9k
https://dl.doubtnut.com/l/_umud70ZrQge4
https://dl.doubtnut.com/l/_845owFJn6gkg

14. A vessel, in the form of an inverted cone, is
filled with water to the brim. Its height is 32
cm and diameter of the base is 25.2 cm. Six
equal solid cones are dropped in it, so that
they are fully submerged. As a result, one-
fourth of water in the original cone overflows.
What is the volume of each of the solid cones

submerged ?

o Watch Video Solution



https://dl.doubtnut.com/l/_845owFJn6gkg
https://dl.doubtnut.com/l/_S6KwHgX7h0QK
https://dl.doubtnut.com/l/_PsLCK3Qq4C6G

15. The volume of a conical tent is 1232m? and
the area of the base floor is 154m?2. Calculate
the:

radius of the floor,

° Watch Video Solution

16. The volume of a conical tent is 1232m? and
the area of the base floor is 154m?2. Calculate
the :

height of the tent,

o Watch Video Solution



https://dl.doubtnut.com/l/_PsLCK3Qq4C6G
https://dl.doubtnut.com/l/_ZOVseKLpFOxh

17. The volume of a conical tent is 1232m? and
the area of the base floor is 154m?. Calculate
the:

length of the canvas required to cover this

conical tent if its width is 2 m.

o Watch Video Solution

Exercise 20 C


https://dl.doubtnut.com/l/_ZOVseKLpFOxh
https://dl.doubtnut.com/l/_E8KwmZ3unWdF

1. The surface area of a sphere is 2464cm?,

find its volume.

o Watch Video Solution

2. The volume of a sphere is 38808cm?, find

its diameter and the surface area.

o Watch Video Solution



https://dl.doubtnut.com/l/_wR3XFM1QcNol
https://dl.doubtnut.com/l/_eAmreMQSKyI8

3. A spherical ball of lead has been melted and
made into identical smaller balls with radius
equal to half the radius of the original one.

How many such balls can be made ?

o Watch Video Solution

4. How many balls each of radius 1 cm can be
made by melting a bigger ball whose diameter

is 8 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_DL0lTRrJwjL1
https://dl.doubtnut.com/l/_p6H9vWG1CKdO

5. Eight metallic spheres, each of radius 2 mm,
are melted and cast into a single sphere.

Calculate the radius of the new sphere.

° Watch Video Solution

6. The volume of one sphere is 27 times that of
another sphere. Calculate the ratio of their:

radii,

° Watch Video Solution



https://dl.doubtnut.com/l/_p6H9vWG1CKdO
https://dl.doubtnut.com/l/_nSaxBdmGWWdq
https://dl.doubtnut.com/l/_kJJf6QnAnvyG

7.The volume of one sphere is 27 times that of
another sphere. Calculate the ratio of their:

surface areas.

o Watch Video Solution

8. If the number of square centimetres on the
surface of a sphere is equal to the number of
cubic centimetres in its volume, what is the

diameter of the sphere?

° Watch Video Solution



https://dl.doubtnut.com/l/_xcj6p7L3BAnJ
https://dl.doubtnut.com/l/_LwPZgzefjBoB

9. A solid metal sphere is cut through its
centre into 2 equal parts. If the diameter of
the sphere is 35 cm, find the total surface
area of each part correct to two decimal

places.

o Watch Video Solution

10. The internal and external diameters of a

hollow hemispherical vessel are 21 cm and 28


https://dl.doubtnut.com/l/_LwPZgzefjBoB
https://dl.doubtnut.com/l/_BAuoKriP6QhR
https://dl.doubtnut.com/l/_LQLyBGUkhOSR

cm respectively. Find :

internal curved surface area,

° Watch Video Solution

11. The internal and external diameters of a
hollow hemispherical vessel are 21 cm and 28
cm respectively. Find :

external curved surface area,

o Watch Video Solution



https://dl.doubtnut.com/l/_LQLyBGUkhOSR
https://dl.doubtnut.com/l/_pH9jD0vmiBek

12. The internal and external diameters of a
hollow hemispherical vessel are 21 cm and 28
cm respectively. Find :

total surface area,

o Watch Video Solution

13. The internal and external diameters of a
hollow hemispherical vessel are 21 cm and 28
cm respectively. Find :

volume of material of the vessel.

| & I


https://dl.doubtnut.com/l/_VcjJSjJEHYhX
https://dl.doubtnut.com/l/_aSDxr2FbLqDl

| ¥ Watch Video Solution |

14. A solid sphere and a solid hemi-sphere
have the same total surface area. Find the

ratio between their volumes.

o Watch Video Solution

15. Metallic spheres of radii 6 cm, 8 cm and 10
cm respectively are melted and recasted into a
single solid sphere. Taking m = 3.1, find the

surface area of the solid sphere formed.


https://dl.doubtnut.com/l/_aSDxr2FbLqDl
https://dl.doubtnut.com/l/_2DEy58PL2mKt
https://dl.doubtnut.com/l/_zsWQhLQ5AKvH

° Watch Video Solution

16. The surface area of a solid sphere is
increased by 21% without changing its shape.
Find the percentage increase in its:

radius

o Watch Video Solution

17. The surface area of a solid sphere is

increased by 21% without changing its shape.


https://dl.doubtnut.com/l/_zsWQhLQ5AKvH
https://dl.doubtnut.com/l/_MBZQT51lkTX8
https://dl.doubtnut.com/l/_1roLiT0iLgTj

Find the percentage increase in its volume..

o Watch Video Solution

Exercise 20 D

1. A solid sphere of radius 15 cm is melted and

recast into solid right circular cones of radius
2.5 cm and height 8 cm. Calculate the number

of cones recast.

° Watch Video Solution



https://dl.doubtnut.com/l/_1roLiT0iLgTj
https://dl.doubtnut.com/l/_RbqXivwJYdF9
https://dl.doubtnut.com/l/_Kr4sE0DeAMV5

2. A hollow sphere of internal and external
diameters 4 cm and 8 cm respectively is
melted into a cone of base diameter 8 cm. Find

the height of the cone.

o Watch Video Solution

3. The radii of the internal and external
surfaces of a metallic spherical shell are 3 cm
and 5 cm respectively. It is melted and recast
into a solid right circular cone of height 32 cm.

Find the diameter of the base of the cone.


https://dl.doubtnut.com/l/_Kr4sE0DeAMV5
https://dl.doubtnut.com/l/_7fnk2B01mxCO

° Watch Video Solution

4. Total volume of three identical cones is the
same as that of a bigger cone whose height is
9 cm and diameter 40 cm. Find the radius of
the base of each smaller cone, if height of

each is 108 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_7fnk2B01mxCO
https://dl.doubtnut.com/l/_vw2FlAA0WWVY

5. A solid rectangular block of metal 49 cm by
44 cm by 18 cm is melted and formed into a
solid sphere. Calculate the radius of the

sphere.

o Watch Video Solution

6. A hemispherical bowl of internal radius 9 cm
is full of liquid. This liquid is to be filled into

conical shaped small containers each of


https://dl.doubtnut.com/l/_YxaDkEUuIcSg
https://dl.doubtnut.com/l/_8kAWqwToEpgW

diameter 3 cm and height 4 cm. How many

containers are necessary to empty the bowl?

° Watch Video Solution

7. A hemispherical bowl of diameter 7.2 cm is
filled completely with chocolate sauce. This
sauce is poured into an inverted cone of
radius 4.8 cm. Find the height of the cone if it

is completely filled

° Watch Video Solution



https://dl.doubtnut.com/l/_8kAWqwToEpgW
https://dl.doubtnut.com/l/_EiPtxmmbLX4G
https://dl.doubtnut.com/l/_zjiWSbPS9arh

8. A solid cone of radius 5 cm and height 8 cm
is melted and made into small spheres of
radius 0.5 cm. Find the number of spheres

formed.

o Watch Video Solution

9. The total area of a solid metallic sphere is
1256cm?. It is melted and recast into solid
right circular cones of radius 2.5 cm and

height 8 cm. Calculate :


https://dl.doubtnut.com/l/_zjiWSbPS9arh
https://dl.doubtnut.com/l/_PE4rI0CCrQ6B

the radius of the solid sphere, and the no. of

cones cast (11=3.14).

° Watch Video Solution

10. The total area of a solid metallic sphere is
1256cm?. It is melted and recast into solid
right circular cones of radius 2.5 cm and
height 8 cm. Calculate :

the number of cones recast.

° Watch Video Solution



https://dl.doubtnut.com/l/_PE4rI0CCrQ6B
https://dl.doubtnut.com/l/_2bIGEsrTYvOg
https://dl.doubtnut.com/l/_fxhwmB7sqTj2

11. A solid metallic cone, with radius 6 cm and
height 10 cm, is made of some heavy metal A.
In order to reduce its weight, a conical hole is
made in the cone as shown and it is
completely filled with a lighter metal B. The
conical hole has a diameter of 6 cm and depth
4 cm. Calculate the ratio of the volume of

metal A to the volume of the metal B in the


https://dl.doubtnut.com/l/_fxhwmB7sqTj2

solid.

o Watch Video Solution

12. A hollow sphere of internal and external

radii 6 cm and 8 cm respectively is melted and


https://dl.doubtnut.com/l/_fxhwmB7sqTj2
https://dl.doubtnut.com/l/_eswWzPk5CQpe

recast into small cones of base radius 2 cm

and height 8 cm. Find the number of cones.

° Watch Video Solution

13. The surface area of a solid metallic sphere
is 2464cm?. It is melted and recast into solid
right circular cones of radius 3.5 cm and
height 7 cm. Calculate :

the radius of the sphere and the number of

cones recast.

° Watch Video Solution



https://dl.doubtnut.com/l/_eswWzPk5CQpe
https://dl.doubtnut.com/l/_w1s4JxgcjA38

14. The surface area of a solid metallic sphere
is 2464cm?. It is melted and recast into solid
right circular cones of radius 3.5 cm and

height 7 cm. Calculate :

22
the number of cones recast. (Take m = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_w1s4JxgcjA38
https://dl.doubtnut.com/l/_NC2lWN9igVzu

1. A cone of height 15 cm and diameter 7 cm is
mounted on a hemisphere of same diameter.
Determine the volume of the solid thus

formed.

o Watch Video Solution

2. A buoy is made in the form of hemisphere
surmounted by a right cone whose circular
base coincides with the plane surface of

hemisphere. The radius of the base of the


https://dl.doubtnut.com/l/_U6oQsBwHAkHS
https://dl.doubtnut.com/l/_WGz3HFeJuslp

cone is 3.5 metres and its volume is two-third
of the hemisphere. Calculate the height of the
cone and the surface area of the buoy, correct

to two places of decimal.

° Watch Video Solution

3. From a rectangular solid of metal 42 cm by
30 cm by 20 cm, a conical cavity of diameter 14
cm and depth 24 cm is drilled out. Find :

the surface area of remaining solid,

° Watch Video Solution



https://dl.doubtnut.com/l/_WGz3HFeJuslp
https://dl.doubtnut.com/l/_XUBR0wZJECfd

4. From a rectangular solid of metal 42 cm by
30 cm by 20 cm, a conical cavity of diameter 14
cm and depth 24 cm is drilled out. Find :

the volume of remaining solid,

° Watch Video Solution

5. From a rectangular solid of metal 42 cm by
30 cm by 20 cm, a conical cavity of diameter 14

cm and depth 24 cm is drilled out. Find :


https://dl.doubtnut.com/l/_XUBR0wZJECfd
https://dl.doubtnut.com/l/_UGuaKYtk2Om5
https://dl.doubtnut.com/l/_B2tsBl6Rr1Si

the weight of the material drilled out if it

weighs 7 gm per cm®.

° Watch Video Solution

6. A cubical block of side 7 cm is surmounted
by a hemisphere. What is the greatest
diameter of the hemisphere can have? Find

the total surface area of the solid.

o Watch Video Solution



https://dl.doubtnut.com/l/_B2tsBl6Rr1Si
https://dl.doubtnut.com/l/_bFAKCPjhZfIh

7. A vessel is in the form of an inverted cone.
Its height is 8 cm and the radius of its top,
which is open, is 5 cm. It is filled with water up
to the brim. When lead shots, each of which is
a sphere of radius 0.5 cm are dropped into the

vessel, on

o Watch Video Solution

8. A hemi-spherical bowl has negligible

thickness and the length of its circumference


https://dl.doubtnut.com/l/_SNRWcdBuu0ZW
https://dl.doubtnut.com/l/_pqzoAlGcAQuy

is 198 cm. Find the capacity of the bowl.

o Watch Video Solution

9. The maximum volume of a cone that can be

carved out of a solid hemisphere of radius 7 is

9 71'7"3 7'('7"2 3
3mr (b) — (C) T (d) 3rr

o Watch Video Solution

10. The radii of the bases of two right circular

solid cones of same height are r; and 72


https://dl.doubtnut.com/l/_pqzoAlGcAQuy
https://dl.doubtnut.com/l/_5bm0InHnWRoT
https://dl.doubtnut.com/l/_uhyqyN4H8p6n

respectively. The cones are melted and recast
into a solid sphere of radius R . Show that the

height of each cone is given by

B 4R3
P12 + 122

h

o Watch Video Solution

11. A solid metallic hemisphere of diameter 28
cm is melted and recast into a number of
identical solid cones, each of diameter 14 cm
and height 8 cm. Find the number of cones so

formed.



https://dl.doubtnut.com/l/_uhyqyN4H8p6n
https://dl.doubtnut.com/l/_Ck7VEF82PWY2

I 0 Watch Video Solution I

12. A cone and a hemisphere have the same
base and the same height. Find the ratio

between their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ck7VEF82PWY2
https://dl.doubtnut.com/l/_AvozUmjSM5in

1. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.

o Watch Video Solution

2. From a solid cylinder whose height is 16 cm
and radius is 12 cm, a conical cavity of height 8

cm and of base radius 6 cm is hollowed out.


https://dl.doubtnut.com/l/_P00mO7g7H0j2
https://dl.doubtnut.com/l/_9cRTszTamvmT

Find the volume and total surface area of the

remaining solid.

° Watch Video Solution

3. A circus tent is cylindrical to a height of 4 m
and conical above it. If its diameter is 105 m
and its slant height is 80 m, calculate the total
area of canvas required. Also, find the total

cost of canvas used at Rs 15 if the width is 1.5

° Watch Video Solution



https://dl.doubtnut.com/l/_9cRTszTamvmT
https://dl.doubtnut.com/l/_ZVgOWm0SVMXA

4. A circus tent is cylindrical to a height of 8 m
surmounted by a conical part. If total height of
the tent is 13 m and the diameter of its base is
24 m, calculate:

total surface area of the tent,

o Watch Video Solution

5. A circus tent is cylindrical to a height of 8 m
surmounted by a conical part. If total height of

the tent is 13 m and the diameter of its base is


https://dl.doubtnut.com/l/_ZVgOWm0SVMXA
https://dl.doubtnut.com/l/_hlRy6TUdm46K
https://dl.doubtnut.com/l/_vG2jcWeK5Iby

24 m, calculate :
area of canvas, required to make this tent
allowing 10% of the canvas used for folds and

stitching

° Watch Video Solution

6. A cylindrical boiler, 2 m high, is 3.5 m in
diameter. It has a hemispherical lid. Find the
volume of its interior, including the part

covered by the lid.

o Watch Video Solution



https://dl.doubtnut.com/l/_vG2jcWeK5Iby
https://dl.doubtnut.com/l/_eV9YpxvYZpEC

7. A vessel is a hollow cylinder fitted with a

hemispherical bottom of the same base. The
: . 14

depth of the cylinder is = m and the

diameter of hemisphere is 3.5 m. Calculate the

volume and the internal surface area of the

solid.

o Watch Video Solution

8. A wooden toy is in the shape of a cone

mounted on a cylinder as shown alongside.


https://dl.doubtnut.com/l/_eV9YpxvYZpEC
https://dl.doubtnut.com/l/_nJs297SREO2C
https://dl.doubtnut.com/l/_Uw212Ih9w1bi

If the height of the cone is 24 cm, the total
height of the toy is 60 cm and the radius of
the base of the cone = twice the radius of the

base of the cylinder = 10 cm, find the total


https://dl.doubtnut.com/l/_Uw212Ih9w1bi

surface area of the toy. Take 7 = 3.14]

o Watch Video Solution



https://dl.doubtnut.com/l/_Uw212Ih9w1bi

9. A cylindrical container with diameter of base
42 cm contains sufficient water to submerge a
rectangular solid of iron with dimensions
22cm X 14em X 10.5cm. Find the rise in level

of the water when the solid is submerged.

o Watch Video Solution

10. Spherical marbles of diameter 1-4 cm are
dropped into a beaker containing some water

and are fully submerged. The diameter of the


https://dl.doubtnut.com/l/_Xj4POHCQrD4p
https://dl.doubtnut.com/l/_biN9YWHkM1uc

beaker is 7 cm. Find how many marbles have

been dropped in it if the water rises by 5.6 cm

?

o Watch Video Solution

11. The cross-section of a railway tunnel is a
rectangle 6 m broad and 8 m high surmounted
by a semi-circle . The tunnel is 35 m long. Find
the cost of plastering the internal surface of
the tunnel (excluding the floor) at the rate of

Rs 2.25 per m?

| |


https://dl.doubtnut.com/l/_biN9YWHkM1uc
https://dl.doubtnut.com/l/_aSFXsJfcaNXq

& Watch Video Solution I

12. The horizontal cross-section of a water tank
is in the shape of a rectangle with semi-circle
at one end, as shown in the following figure.
The water is 2.4 metres deep in the tank.
Calculate the volume of water in the tank in

gallons.

Lo

° Watch Video Solution



https://dl.doubtnut.com/l/_aSFXsJfcaNXq
https://dl.doubtnut.com/l/_IO2diCG6ThMx

13. The given figure shows the cross-section of
a water channel consisting of a rectangle and
a semi-circle. Assuming that the channel is
always full, find the

- 2om -

Tom

volume of water discharged through it in one
minute if water is flowing at the rate of 20 cm
per second. Give your answer in cubic metres

correct to one place of decimal.


https://dl.doubtnut.com/l/_EYVg262fAuTt

o Watch Video Solution

14. An open cylindrical vessel of internal
diameter 7 cm and height 8 cm stands on a
horizontal table. Inside this is placed a solid
metallic right circular cone, the diameter of
whose base is 3§cm and height 8 cm. Find
the volume of water required to fill the vessel.
If this cone is replaced by another cone, whose

height is 1Zcm and the radius of whose base

is 2 cm, find the drop in the water level.

I o Watch Video Solution


https://dl.doubtnut.com/l/_EYVg262fAuTt
https://dl.doubtnut.com/l/_PM1U7mVCFsru

15. A cylindrical can, whose base is horizontal
and of radius 3-5 cm, contains sufficient water
so that when a sphere is placed in the can, the
water just covers the sphere. Given that the
sphere just fits into the can, calculate :

the total surface area of the can in contact

with water when the sphere is in it,

° Watch Video Solution



https://dl.doubtnut.com/l/_PM1U7mVCFsru
https://dl.doubtnut.com/l/_YQeH3jTyo4Dy

16. A cylindrical can, whose base is horizontal
and of radius 3-5 cm, contains sufficient water
so that when a sphere is placed in the can, the
water just covers the sphere. Given that the
sphere just fits into the can, calculate :

the depth of water in the can before the

sphere was put into the can.

o Watch Video Solution



https://dl.doubtnut.com/l/_KYHiG6toKqa4

17. A hollow cylinder has solid hemisphere
inward at one end and on the other endL it is
closed with a flat circular plate. The height of
water is 10 cm when flat circular surface is
downward. Find the level of water, when it is
inverted upside down, common diameter is 7

cm and height of the cylinder is 20 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_bSHbrWCMzbAJ
https://dl.doubtnut.com/l/_CJ4xMwuz4GMy

1. What is the least nhumber of solid metallic
spheres, each of 6 cm diameter, that should be
melted and recast to form a solid metal cone

whose height is 45 cm and diameter 12 cm ?

° Watch Video Solution

2. A largest sphere is to be carved out of a
right circular cylinder of radius 7 cm and
height 14 cm. Find the volume of the sphere.

(Answer correct to the nearest integer).

° Watch Video Solution



https://dl.doubtnut.com/l/_CJ4xMwuz4GMy
https://dl.doubtnut.com/l/_zk4ULIlI0g9O

3. A right circular cylinder having diameter 12
cm and height 15 cm is full of ice-cream. The
ice-cream is to be filled in cones of height 12
cm and diameter 6 cm having a hemispherical
shape on the top. Find the number of such

cones which can be filled with ice-cream.

o Watch Video Solution

4. A solid is in the form of a cone standing on

a hemi-sphere with both their radii being


https://dl.doubtnut.com/l/_zk4ULIlI0g9O
https://dl.doubtnut.com/l/_E2GBRTJVguaN
https://dl.doubtnut.com/l/_Nf26DjutncDD

equal to 8 cm and the height of cone is equal
to its radius. Find the volume of the solid in

terms of pi.

o Watch Video Solution

5. The diameter of a sphere is 6 cm. It is melted
and drawn into a wire of diameter 0-2 cm. Find

the length of the wire.

o Watch Video Solution



https://dl.doubtnut.com/l/_Nf26DjutncDD
https://dl.doubtnut.com/l/_fjpNkxyay82a

6. What is the ratio of the volume of a cube to

that of a sphere which will fit inside it?

° Watch Video Solution

7. A solid iron pole having cylindrical portion
110cm high and of base diameter 12cm s
surmounted by a cone 9cm high Find the mass
of the pole, given that the mass of lem® of

iron is 8gm.

° Watch Video Solution



https://dl.doubtnut.com/l/_vmDKvqeiaWui
https://dl.doubtnut.com/l/_TWcUS5wJ6qyA

8. In the following diagram a rectangular
platform with a semi-circular end on one side
is 22 metres long from one end to the other
end. If the length of the half circumference is
11 metres, find the cost of constructing the
platform, 1.5 metres high at the rate of Rs 4

per cubic metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_TWcUS5wJ6qyA
https://dl.doubtnut.com/l/_0MlApE2IjGrH

9. The cross-section of a tunnel is a square of
side 7 m surmounted by a semicircle. The

tunnel is 80 m long ,Calculate : its volume

o Watch Video Solution

10. The cross-section of a tunnel is a square of
side 7 m surmounted by a semicircle. The
tunnel is 80 m long Calculate : the surface

area of the tunnel (excluding the floor) .

I o Watch Video Solution


https://dl.doubtnut.com/l/_0MlApE2IjGrH
https://dl.doubtnut.com/l/_0MLh4modeBSA
https://dl.doubtnut.com/l/_CiFSM3kJAzuo

11. The cross-section of a tunnel is a square of
side 7 m surmounted by a semicircle.
Calculate: its floor area. The tunnel is 80 m

long.

o Watch Video Solution

12. A cylindrical water tank of diameter 2.8 m
and height 4.2 m is being fed by a pipe of

diameter 7 cm through which water flows at


https://dl.doubtnut.com/l/_CiFSM3kJAzuo
https://dl.doubtnut.com/l/_ZYr9OzBZB9SF
https://dl.doubtnut.com/l/_UD96T9tax4jO

1

the rate of 4 ms ™ ~. Calculate, in minutes, the

time it takes to fill the tank

° Watch Video Solution

13. Water flows, at 9 km per hour, through a
cylindrical pipe of cross-sectional area 25 cm?
If this water is collected into a rectangular
cistern of dimensions 7.5 m by 5 m by 4 m,
calculate the rise in level in the cistern in 1

hour 15 minutes.

° Watch Video Solution



https://dl.doubtnut.com/l/_UD96T9tax4jO
https://dl.doubtnut.com/l/_D3tCLUeekllq

14. The given figure shows the cross-section of
a cone, a cylinder and a hemisphere all with
the same diameter 10 cm, and the other
dimensions are as shown. Calculate the total

surface area.

o Watch Video Solution

15. A solid consisting of a right circular cone,
standing on a hemisphere, is placed upright,

in a right circular cylinder, full of water, and


https://dl.doubtnut.com/l/_D3tCLUeekllq
https://dl.doubtnut.com/l/_OyGkOcb3SjFP
https://dl.doubtnut.com/l/_nZ5TxzDKbTFp

touches the bottom. Find the volume of water
left in the cylinder, having given that the
radius of the cylinder is 3 cm and its height is
6 cm, the radius of the hemisphere is 2 cm and
the height of the cone is 4 cm. Give your

answer correct to the nearest centimetre

1
Take m = 3—
( Take 7 37)

o Watch Video Solution

16. A metal container in the form of a cylinder

is surmounted by a hemisphere of the same


https://dl.doubtnut.com/l/_nZ5TxzDKbTFp
https://dl.doubtnut.com/l/_bvYNWNWJSiUL

radius. The internal height of the cylinder is 7
m and the internal radius is 3-5 m. Calculate :
the total area of the internal surface,

excluding the base,

° Watch Video Solution

17. A metal container in the form of a cylinder
is surmounted by a hemisphere of the same
radius. The internal height of the cylinder is 7
m and the internal radius is 3-5 m. Calculate :

the internal volume of the container in m?.

| e |


https://dl.doubtnut.com/l/_bvYNWNWJSiUL
https://dl.doubtnut.com/l/_RKncmFj6v9lR

& Watch Video Solution I

18. An exhibition tent is in the form of a
cylinder surmounted by a cone. The height of
the tent above the ground is 85 m and height
of the cylindrical part is 50 m. If the diameter
of the base is 168 m, find the quantity of
canvas required to make the tent. Allow 20%
extra for fold and for stitching. Give your

answer to the nearest m2.

° Watch Video Solution



https://dl.doubtnut.com/l/_RKncmFj6v9lR
https://dl.doubtnut.com/l/_QQAe8Rgh0QbA
https://dl.doubtnut.com/l/_HLhyWEYmzhZl

19. A test tube consists of a hemisphere and a
cylinder of the same radius. The volume of the
water required to fill the whole tube is

5159 42
G em?, and 635 em®  of  water s

required to fill the tube to a level which is 4
cm below the top of the tube. Find the radius
of the tube and the length of its cylindrical

part.

o Watch Video Solution



https://dl.doubtnut.com/l/_HLhyWEYmzhZl

20. A solid is in the form of a right circular
cone mounted on a hemisphere. The diameter
of the base of the cone, which exactly
coincides with hemisphere, is 7 cm and its
height is 8 cm. The solid is placed in a
cylindrical vessel of internal radius 7 cm and

3

height 10 cm. How much water, in em”, will be

required to fill the vessel completely ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lde9GbYNX9BD

21. Two solid spheres of radii 2 cm and 4 cm
are melted and recast into a cone of height 8

cm. Find the radius of the cone so formed.

o Watch Video Solution

22. A certain number of metallic cones, each of
radius 2 cm and height 3 cm, are melted and
recast into a solid sphere of radius 6 cm. Find

the number of cones used.

o Watch Video Solution



https://dl.doubtnut.com/l/_5xAmbE0YJ4oC
https://dl.doubtnut.com/l/_z7qBlDoqrnXv

23. A conical tent has to accommodate 77
persons. Each person must have 16 m® of air
to breathe. Given the radius of the tent as 7 m,
find the height of the tent and also its curved

surface area.

o Watch Video Solution



https://dl.doubtnut.com/l/_z7qBlDoqrnXv
https://dl.doubtnut.com/l/_MOi24miUkAWG

